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hyperbolic line :



Given distinct points p,qED there is a unique

hyperbolic line incident to both .

All hyperbole lines are congruent
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5. T is a hyperbolic transformation



taking p to 0

q to somewhere an
IR

.

1- (L) is a hyperbolic line passes through 0 and

some non zero real umber
.

So if's IRT
.

Points on s
'

are called ideal points .

Think of them as
" points at oo

"



Parallelism Given a line and a point not on

the lone how my parallel lines are there
-

through the paint?

""""

[ parallel ( meet at
an ideal point)
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If two lines intersect at p c- D

?⃝•

they also intersect at p*.

If they intersect at c- s
'

then they are the
same ME !us line.



Upshot : Two distal lines that intersect in D

cannot intersect on s !

Contrapositive : If two hyperbolic lies intersect at a point
on s

'

they do not intersect on D
.

Two lines on intersect no more

① them twice on the boundary .

Is just once possible? Sore.

Is twice possible
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